1. Compute the following derivatives. (3 points each)
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3. Compute the following limits, or show that the limit does not exist. (3 points each)
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c. lim f(z), where f is the function
a-31

Qim L0y = Qn‘m+zz= 1
x24T w2 g
Lo (%) = Lim % = 4
A>q x> 1

:-—"> Lipn .EDL) = {:j;]

A =>4



4. (6 points) a. State the limit definition of the derivative. (There are actually two equivalent definitions we

learned in class; either is acceptable.) _
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(5 points) b. Use the definition from part a. to compute = —x—-!ﬁ
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